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[V(X1.10) (V) 10.000n 10.000n 2222619 4414E21
[V(x2.10) (v) 10.000n 10.000n 2222649 4413E21
CV(X3.10) (V) 10.000n 10000 10,000 198594m
[V(X4.10) (v) 10.000n 10.000n 0.188f 0.004f
[BIVILAY LA PV(L2) 12 10.353M 1.621m -10.353M 205.613K
T (Secs) 160.006 210360 50.354 1.000

FIG. 64
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HERE IS A EXCELLENT EXAMPLE OF POSITIVELY SIGNED WATTAGE (AKA. REAL POWER)
VERSUS NEGATIVELY SIGNED VOLTS/AMPERES (AKA, REACTIVE POWER). THE
NEGATIVELY SIGNED REACTIVE POWER IS ARISING FROM ALL THREE INDUCTORS, L1
AND L2 AND L3. AND L3 HAS REACHED ITS TARGET OF AROUND
INDUCTANCE) THE PHASE OF CURRENT OF ITS COMPLIMENTARY
‘VERSA TO(HOPEFULLY!) INDUCE AN EMISSION OF WATTAGE:"
0.00u 0250 058U 086U .18u 14du
ANEGATIVE VOLTAGE Left TIMESAFOSI-  Right TIVE AMPERAGE Delta Slope
YIELDS A NEGATIVE 242113 VOLTS/AM- PERES. AKA: 716.063 -1.766G
4989 152905 377.358M
CVRITRY 0.000 0.000 WATTS 0000 0000
vty 332501m 49.084K WATTS 49.084K 121.064G
Ovicayiica) 19540K  REAL  TAS73K WATTS 56.334K 136.4796
(v(C3)Ic3) 83268u POWER 12271 WATTS 12271 30.267M
CV(C4Ylicd) 83.113u 12272 WATTS 12271 30.267M
[IV(C5)'I[C8) 4302 11.917K WATTS 11.921K 29.4036
(vice)lice) 4.469 12.621K 31.129G
-237.243n 504.083u 1.490K
BV(L2)1L2) 6.366 REDA;L';E -368.976K 910.068G
1.208K 76.083K -187.657G
OVILII3) 48529 51529 -127.093M
T (Secs) 1034u 405.438n 1.000

FIG. 69
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0.00u 025u 0.38u 086u 15u 14du
Left Right Delta Slope
BVIL3) V) 7768180 7768180 0000 INF
CINL3) (A) 2589450 258.945n 0000 INF
CVRIR1Y 0000 0000 0000 INF
CvicyIct) 0000 0000 0000 INF
(Cvicayi(c2) 201.149F 201.149f 0000 INF
Cv(c3yI(c3) 0000 0000 0000 INF
Cv(cayIcd) 0000 0000 0000 INF
[Iv(cs)I(cs) 58300 68300 0000 INF
(viceyi(cs) £830n £.830n 0000 INF
CIvIL1yIL1) 4939E21 4930E21 0000 INF
OviL2)1(L2) 0000 0000 0000 INF
[CIVIL3)*(L3) -201.153f -201.153f 0000 INF
CIVIL3I(L) 3,000 3,000 0000 INF
T(Secs) 1430u 14300 0000 1,000
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[image: image75.png]Gradually add more Henrys to the top Transformer to slow its growth towards
infinity until it has 100E Henrys equivalent to 100 Exa Henrys = 100"1e18.
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